[ Fake rate vs normalized x? |

0.5

2

=< F

Q0,45 -k erdererie b b
gk

O R R R SR TR R EEREFEEEE b
g F

= o

£0.35

0.3
0.25
0.2
0.15
0.1
0.05

Ratio
=

| Duplicates Rate vs normalized x?2

v .0.02
=<
9.018F
(0]

0165
Ok
$.014F
g
D.012F
ko] o

0.01F

Ratio

0.95
0

NE
N
ol

track x2

[ Pileup rate vs normalized x? |

pileup rate vs x*

Ratio

1

0.8

0.6

0.4

0.2

0.95

10 12 14 16 18 20
track x2

[Faeraevs] —— BOW-H—ok

fakerate vs seeding layers

pileup rate vs seeding layers

Ratio

0.2

A S R |




	Contents
	Page 1


